F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

KA
RRREBEEKKS
A3—FJX b
#EHiNo. 255 TF 100m BHRE FHE 14
__13~14% _

Kig o B K 4 PB4 FE

148
1 B =R 1164  Zgith i HF W =E&MSS ==
2 Ik B 2354 WFIEF W F 193 a/VaR /RRARAIRE G2
3 K K& 2804 B @ BE 3 Ut <3 +SCRE =]
4 b= 1657 5K ZEiD AR ¥ 2R3 Nagatsuta. SC xa
5 F % 01 HWH BE 98 k/h Y HINVFEE i1
6 X = 1247  RE TEME #1535 h13 M ORINEF ==
7 = E 2344 EBF HE 1hh3 £t/ JSSH¥F ==}
8

248
1 @ 3128 HFHADY 744 37 L4 S CRL ==}
2 Z 2178  EBEHHIDA h3F hy S C =]
3 B =R 1053 ®E #Z&R 74N JTY HESC /B E i1
4 ® = 1214 H# EE 443 v [ESPYS-N=] ==
5 = B 3185  FHFk TFHEE B FW MYRARIGE ==
6 R 1751 FHIl F& vh9 Fb MYUAEREE ==
7 X K& 2602 KT I2A $/V% t7 4 b2 v ==
8 % A 1899 KX 1I2#¥ A% Eh ETY iBKikihE ==}

R |
1 wm K 297 #WH HE Y/ I FEERZEA VS =]
2 = A 2424 {EBE kB VIV aF3IRRE 2
3 E B 3045 i FHF YT 942 WAYUAEE th2
4  w@E| 1801 =31 #f TEF 173 5 MD JEE R 2
5 KX M 2755  BAE DB thy ) WASS =]
6 X % 3468 Wuh I th AR A#ESS ==
7 ® = 121 EB &S NYT By WU RRE i2
8 #x 1584 #iKk & FYSEW Y OFIFES ==

448
1 w o 3190 shh FEF Enth Nt RS cC ==}
2 WO 3197 [T %= th 33 KSGSSSIL ==}
3 ® = 960 FAE SHB A F/h VA kLl &2
4 b R 187 #F BE Y93 M7 XESS th2
5 & M 2075 WWE FM Wy Fh Bl GH#HE i2
6 #wmE) 1626  ZEfx T4 LSRR U MVEFIR 2
7 [ 1052 LtiIEZCA 9If° % 13 BHESC =al
8 B = 625 /hith MEF 14 143 A4 VA H2

54
1 H E 694 FELBH I3 D3 Av4vEBER th2
2 X R 2673  EHFHEHEHTE ENVZER =) KSCFE H2
3 ®E = 1212 'R &£ Eb 1 [ESPYS-N=] th2
4 % E 490 4:H XK VAW VR a7 S 4LiEFD 2
5 & @ 2042 #K RAE AR F HES S =]
6 = #B 2450 HHEEEFY ary MY REMEKE 2
7 W A 3189 EEASLKH  Hnvas- 493 REESC B
8 [ 1208 #tB F= N YUY Ftn [ESPre-Y=] th2

Page: 1/2 Printing: 2019/03/11 18:44:24

SEIKO



F41EILEJIOCY 1271t vihy7 FBEZKiKFRAXE

KA
REREERKkE
ARA—FYR B
#EHiNo. 255 TF 100m BHRE FHE 14
__13~14% _

Kig o B K % PB4 A

648
1 k E 2988 THH FHE I M 14 b i th2
2 xRN 1701 #8K Fit& AR F U ATSC. YW ==}
3 B E 696 A EBF w7 1) An4vEBER 2
4 = M 3305 #FHFHE ED )4 va KEFH S C th2
5 R 1627 EQO & WY F 71 WMHVEFRER 1
6 #HZE]| 1656  #5K i FYNEI AN Nagatsuta. SC ==
7 E W 1954 Kt (22 YT Za > kSC 2
8 T E 835 EHH =4 /L3 11 aFIHEHF #2

148
1 F E 861 FKTIHR YIXT TR T MNAK =Y 2
2 E W 1955 FH &= £3/ #% >+ hkSC ==]
3 % & 2043 HETIRAFD 191 9%) E1ST 2
4 ® = 1323 =8B 3 /3y hUY HREF—L /&% th2
5 E E 2953 HIL KB AL RS PyS =l th2
6 & M 3345 EH FE ah5 I 7F ANVEE i1
7 % W 266 #RfE EHXR 9h 4 oaA o)L th2
8 B E 623 EHYDOH YIN )7 A4 UBA th2

SEIKO

Page: 2/2

Printing: 2019/03/11 18:44:25



